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Grade 7 —-2002
Part A

1. What isthe value of

2_1
3 2

1 1 3
(A) 5 ®) < © 5 (D) 2 (E) 6

Alain has eaten 1 of apizzaand Y acine has eaten % of therest. What portion of the pizzais

2.
left for Paul?
(A) 20% (B) 25% (C) 40% (D) 60% (E) None of these
3. 45 dvided by .03 isequal to
(A) .15 (B) 1.5 (©) 15 (D) 150 (E) 1500
4. Which o thefollowing fradionsis the largest?
(32 3 (3+t12 (3+1) (3+2)
(A) (8-2) (B) 8 ©) (8+12) (©) (8+1) (B) (8+2)
5. What isthe sum of al the integers which divide 18 evenly?
(D) 38 (E) 39

(A)21 (B) 31 (C) 37

6. How many ways can the value 13 be expressed as the sum of exadly 3 different positive
integers? For example, 13=1+ 4+ 8isonesuchway. Notethat 13=4+ 8+ 1 dcesnat court

as a“different” way since the same integers are involved in the sum

(A)5 (B) 6 ©7 (D) 8 (E) 14

Nine henslay 12 eggsin 4 days. How many eggs will 4 hens lay in 9 days?

(A) 11 (B) 12 (C) 13 (D) 14 (E) 15
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8. The average mark on thefirst 3 tests an took was 76. What average mark does Jean need on
the next two tests to have an average of 80 for al of the tests?

(A) 80 (B) 84 (C) 85 (D) 86 (E) None of these

9. Threedifferent integers each greater than one ae multiplied together. The result canna be equal
to

(A) 24 (B) 30 (C) 72 (D) 90 (E) It can be dl of
these

10. (2x+y) —(3x—y) + (y —Xx) isequa to

(A) 3y —2x (B) y-x (©) 3y (D) y-2x (E) x+y
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Part B

11. Suppase that the operation * is defined by a*b = ab-b for every pair of integersa andb. What is
theresult of (4*1)*3?

(A) 0 (B) 1 (C) 6 (D) 9 (E) 12

12. A number iscomposed o 4 digits. Thelast digit isequal to 4times thefirst digit, the second
digit isequal to 6times thefirst digit and the third digit isequal to 3 plus the second digit. What
isthe sum of this number's digits?

(A)9 (B) 10 (C) 11 (D) 20 (E) 23

13. A basket contains some gples. Alicetakes % of the apples and then places 15 o the apples badk
in the basket. Barry then takes % of the remaining apples and places 10 back in the basket. They
find that each of them has the same number of apples. How many apples are left in the basket?

(A) 10 (B) 20 (C) 30 (D) 50 (E) Not enough
information

14. A bus starts off with some passengers. At thefirst stop, % of the passengers get off and 8 people

get on. At the second stop, % of the passengers remaining get off and 2 get on the bus. There

are now half as many passengers as started the trip. How many persons started the trip?

(A) 18 (B) 24 (C) 27 (D) 30 (E) 36

15. Consider the square ABCD. M isinthe midde of A M B
AB. If the aeaof triangle AMD is 4, find the aea of
the square ABCD.

D C

(A)9 (B) 11 (C) 16 (D) 20 (E) Nonre of these
answers
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16. Which of the following is the largest?

(A) 21°3° (B) 27 (C) 4° (D) 6 (E) 3

17. Find a number such that, when we multiply it by 2, and 4is subtracted from the result, and, this
new result is divided by 4 and 5is added to the final result, we obtain the same number as we
started with.

(A)3 (B) 8 ©9 (D) 10 (E) 18
18. Theareaof thefigure, in square centimetres, is 4
5
&
(A) 20 (B) 22 (C) 25 (D) 30 (E) 40

19. In aclassof 30 students 23 students went swimming, 19 students went skating and 14 students
did bah. How many students did not do either of these activities?

(A) 2 (B) 3 )7 (D) 11 (E) 16

20. For avisit to the municipal library, ateacher asks her studentsto form rows of 3 students per
row. Soléne, Nadine and Yasmine aein the 5" row starti ng from the front and the 6" row
starting from the badk. How many students will visit the library?

(A) 24 (B) 27 (C) 30 (D) 33 (E) 36
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Part C

21. How many triangles, which have their
corners on the perimeter, are there in the figure?

(A) 17 (B) 20 (C) 24 (D) 26 (E) 27

22. 209 litres of water are poured into containers A, B and C. B contains 50% more water than A
and C contains 50% more water than B. How many litres of water arein B?

(A) 40 (B) 44 (C) 60 (D) 66 (E) 99

23. An ant starts at corner A and walks along the edges B
of acube visiting every corner of the cube exactly one ~
time. The ant finishesthe walk at corner B.

How many edges does the ant not walk on?

(A) 2 (B) 3 (C) 4 (D) 5 (E) The number
depends on
the path taken

24. What is the next number in the sequence: 1,2, 3,4,5,8,7,16,9, ...?

(A) 8 (B) 11 (C) 18 (D) 23 (E) 32
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25. The integers from 1 to 25 are multiplied together. How many zeros does the result end in?

(A) 2 (B)3 (C) 4 (D)5 (E) 6

6
26. What is the area of the shaded region? | |
Line segments that are marked with
the same symbol are equal in length.

1
1
1
1
1
1
L
1
1
I
I

8

(A)8 (B) 10 (©) 12 (D) 15 (E) None of these
answers




